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The figures in the margin indirate full marlcs

for the questions

1. Answer the following questions : Lx7=7

(a) What are audiovisual aid.s?

(b) Who advocated the play-way method of
teaching?

(c) What is a lesson plan?

(d.) Which educator is known as the father
of the kindergarten concept?

(e) Mention one difference betwpen adult
learning and child learning.

n Define,motivation

(g) Why is teaching termed as an art?
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(c) Mention two advantages of questioning.

(d) What is the importance of a good 
$

educational Project?

3. Answer any three of the following : 5x3=15

(a) "The art of questioning is the very soul
of teaching." Comment.

(b) "The quality of education depends

largely upon the quality of the teacher."
Justi$r.

(c) Discuss the strategies of good classroom
management.

(d.) Discuss the reasons for and against
giving homework to nursery school
students.

(e) What do you understand by taxonomy
of educational objectives? Explain.

(3|

Answer any three of the foliowing :

(a) The fundamental human motives are 'to
' create, to make, to discover, to express

and to grow'. Critically examine this
statement and show its application in
the teaching-learning Process.

(b) "Praise is a greater educational force

than blame." Illustrate the statement.

(c) Define a teaching model. Explain any
two types in detail. )+(4x21=LA

(d) What is the difference among narration,
explanation and illustration? Give

concrete examples to show the effective

use of each of these devices. 6+4= 10

(e) Discuss the need of right methods of
teaching. Why is the project a method of
special interest to the modern educator?

5+5= 10

A "The teaching-learning process is a

human affair between unique teacher

and unique learner." ExPlain with
suitable examPles. 10

l2l

Answer the following questions :

(a) What is microteaching?

(b) What is remedial teaching?

2x4=8 4.2.

to

10
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